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General thoughts

e Stick with the list of parameters to specify
* Insertion Loss

Return Loss

TCL

ELTCTL

PSANEXT

PSAACRF

Delay

DC resistance

e Use the range 0.3 — 60 MHz for all parameters



Return loss, channels and link segments
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{— Previous proposal was based on 1000BASE-T1, same as I1SO T1-C
.——Note crossover between 100BASE-T1 and
1000BASE-T1
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Note crossover between 10BASE-T1S
and 10BASE-T1L
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Return loss, up to 60 MHz

Connectors unlikely to play major role
Long cable good a low frequencies but short cable likely to roll off
/ //
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—TIA, ISO T1-A, IEEE 10-BASE-T1L ——ISO T1-C,D ——IEEE 1000BASE-T1

IEEE 10-BASE-T1S
——Ilegacy cable

- |EEE 100-BASE-T1
——approx. conn D diminico-11-16

——Connector ISO, IEC A



Issues to consider in setting a return
loss limit for 802.3dg

- Connectors are unlikely to play a large role
ISO A connector is unreasonably low

- Alevel of 18 dB is likely to support one legacy cable
Might want to include low f relief

Return loss, up to 60 MHz
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—TIA, ISO T1-A, IEEE 10-BASE-T1L =-—ISO T1-C,D IEEE 1000BASE-T1
IEEE 10-BASE-T1S = |EEE 100-BASE-T1 —Connector ISO, IEC A

—Ilegacy cable —approx. conn D diminico-11-16

- An open question is whether impedance discontinuities between cable segments of different impedances

would cause concentrated reflections

- The time domain based requirement from cy would be serving other purposes, and is a separate question

- A limit between the max of 10BASE-T1L and —T1S and the max of 1000BASE-T1 and 100BASE-T1 would be

consistent with other specifications



TCL channel and link segment requirements
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Propose 50-20log(f/10) from 0.3 to 60 MHz
This is the same as 10BASE-T1L and some cabling specs
35 Slightly higher than 10BASE-T1S
The 50 dB floor should be used
Higher TCL values at high frequencies are not needed
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—TIA, ISOT1-AEL E2, T1-C,DE1 —ISOT1-AE3, T1-C,D E2 —ISOT1-C,D E3
IEEE 1000BASE-T1 type A IEEE 10BASE-T1S —I|EEE 10BASE-T1L
—|EEE 100BASE-T1
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ELTCTL 400 meters

Propose 24-20log(f)
No new information
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===T|A SP1-400 ===|SO T1-A-400 E1 —ISO T1-A-400 E2 —ISO T1-A-400 E3 —I|EEE 10BASE-T1S MC
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PSANEXT 20-100 MHz

Larsen proposed

Graber proposed
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===T|A |SO T1-A IEEE 10BASE-T1L, TIA cable ===|S0 T1-C

-|IEEE 1000BASE-T1 A
——IEEE 100BASE-T1
—SG prop

«=w»|EEE 10BASE-T1S
——IEC cable -13
IEEE 1000BASE-T1 B
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PSAACRF lower frequencies
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===T|A SP1-1000 ISO T1-A-1000==TIA SP1-400 ISO T1-A-400 ===|SO T1-A-250

===|S0 T1-A-100 ===|SO T1-C
IEEE 10BASE-T1L PSAFEXT —IEEE 100BASE-T1

——I|EEE 10BASE-T1S

—Larsen prop
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PSANEXT

Larsen proposed
Graber proposed
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===T|A ISO T1-A IEEE 10BASE-T1L, TIA cable =|SO T1-C
-|[EEE 1000BASE-T1 A e==|EEE 10BASE-T1S

——|EEE 100BASE-T1 —IEC cable -13

——connector TIA ——connector ISO A IEC A unscreened
——connector ISO C IEC B,C unscreened —SG prop

IEEE 1000BASE-T1 B
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* Nothing to add to proposals from last time for delay and DC
resistance

e Discussion



